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INSTRUCTIONS

1. The total duration of the examination is 3 hours. The question paper contains two parts - Part A
and Part B. The duration of Part A is one hour. The duration of Part B is two hours. Part B will
start only after Part A ends. Part A cannot be attempted after Part B commences.

2. Questions of Part A and Part B will appear on the computer. Answers to Part A have to be
entered in the computer. Answers to Part B have to be given in the answer booklet provided by
the invigilator.

3. Part A carries a total of 100 marks. It contains 3 sections. The following table summarises the
number of questions in each section, type of questions, marks for correct answers, marks for
wrong answers, marks for questions not attempted and total marks for the section:

Marks Marks for Marks for
Part A Type of Number of | for each each each Total marks
Section | questions questions correct wrong question not | for the section
answer answer attempted
Numerical
| Answer 10 3 0 0 30
Type
(NAT)
Multiple
Select
Il 1 2 2
Question 0 0 0 0
(MsQ)
Multiple
I Choice 25 2 0.6 0 50
Question
(MCQ)

4. For each NAT question, the answer is a real number with decimal digits up to two decimal
places. The answer needs to be entered using the virtual keyboard on the monitor. No choices
will be shown for these questions. There is no negative or partial marking for NAT questions.

5. Each MSQ has four choices of which one or more is/are the correct answer(s). The marks will be
awarded only if all the correct choices are selected. There is no negative or partial marking for
MSQs.

6. Each MCQ has four choices of which only one is the correct answer. In MCQs, the correct answer
will be awarded 2 marks and wrong answer will be awarded -0.6 marks. Questions not
attempted will be awarded zero marks.

7. Scribble pads will be provided for rough work for Part A. These have to be returned to the
invigilator at the end of the Part A exam.

8. Part B carries a total of 100 marks. It contains 8 questions. You may choose to answer any ONE of
Questions 1, 2, 3, 4 and 5. Questions 6, 7 and 8 are mandatory. Each question must be answered
on the page(s) designated for that question in the answer booklet. Additional instructions to Part
B questions are provided in the answer booklet.

9. In Part B, colour pencils, crayons, sketch pens etc. may be used unless otherwise specified in the
questions.

10.Charts, graph sheets, mathematical tables, calculators, mobile phones, and other electronic
gadgets are not allowed in the examination hall.



Part A - Section I: Numerical Answer Type Questions

Q.01 All the four-digit numbers except one is written using a single font. Identify the number that
does not use the same font as the other numbers.

Q.02 Find the number which will replace the question mark.

Q.03 Anintersection is a point where two or more lines/curves meet or cross. How many
intersections are there in the figure given below?




Q.04 How much distance (in cm) will the bicycle shown below travel, if the pedal makes 1.5
revolutions? (Assume 1t = 22/7).
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Dia30cm Dia 10 cm Dia5cm Dia 35cm

Q.05 How many glasses will remain empty if you half-fill some of the empty glasses, from the
given set of filled glasses?




Q.06 Two perspective views of the same solid object are shown below. How many surfaces does
the object contain? Assume hidden surfaces to be flat.

Q.07 Two water tanks A and B of equal square base of sides 3 feet are shown below. Water flows
from tank A to tank B through a tube. What will be the volume (in cubic feet) of water in Tank A
when the water stops flowing?

6ft. Tank A

| 5 ft.




Q.08 Asolidis shown in the figure below. The vertices ABCDEFGH form a4 cm x2 cm x 2 cm
cuboid. The segments Al and DI are both of length 5 cm, and points ICGFB are coplanar. What is the
height (in cm) of point | from the base rectangle EFGH?

Q.09 The figure shows the front view of a convex lens, which originally had only one edge. Five
holes of different shapes, namely triangle, square, pentagon, hexagon and circle, were drilled
through it at points P, Q, R, S and T in such a way that the holes were parallel to each other,
perpendicular to the edge and all the holes were still within the lens edge. What is the total number
of edges in the lens after the holes were drilled?

Q.10 Interms of calories, 20 jamuns and 3 bananas combined are equivalent to one mango and
one papaya combined, and 2 mangoes and 5 bananas combined are equivalent to 4 papayas and 80
jamuns combined. Then 8 papayas and 2 mangoes are equivalent to how many bananas?



Part A - Section II: Multiple Select Questions

Q.11 Adesigner has designed a logo. The form is shown on the left and its accompanying text is
shown on the right. Which of the following statements about this logo is/are TRUE?

A. If this logo is printed on an envelope with a 60 DPI dot-matrix printer, such that the total
height of the logo is 2 cm, then the logo will retain its original form.

B. If this logo is printed on a flex sheet with a 720 DPI flex printer such that the total height of
the logo is 15 ft, then the logo will retain its original form.

C. Thislogo can be reproduced as shown above by using a four colour screen printing process.

D. The visual properties of the English font match the visual properties of the Hindi font.

Q.12 Image P shows a portion of a larger photograph. Some operations have been done on that
photograph using an image manipulation software. Image Q shows a portion of the resulting
photograph. Identify the option(s) that specifies/specify the correct operations.

Rotate clockwise by 45 degrees, flip horizontally, then rotate clockwise by 90 degrees
Rotate clockwise by 135 degrees, flip horizontally

Rotate clockwise by 135 degrees, flip vertically

Rotate clockwise by 90 degrees, flip horizontally, then rotate clockwise by 45 degrees

A.
B.
C.
D.



Q.13 If you are asked to draw the following four figures with the following constraints: They must
be drawn in a single stroke (without lifting the pen from paper), and each line is drawn only once.
Which of the options can be drawn?

Q.14 The pie chart shows proportions of income tax paid by a population of eight individuals. Each
individual’s tax share is shown in a different slice of the pie. Which of the statements can be derived
from the chart shown below?

About half the total tax is paid by less than half of the population.

About half the total tax is paid by more than half of the population.

About three-fourth of the tax is paid by three-fourth of the population.

Some individuals paid more than double the taxes as compared to some others.
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Q.15 Four square table-tops of the same dimensions are shown below. Only the designs of their
supports are different from each other. If a person stands upright on the red mark on each of the
table, which of the tables will topple?



